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TREOBBICIYRENOM EIICERTS | tEEORBICIYBENOB EHICERTS TREOBBICEYRENOM EEITERTS | tEZEORBICSVBEYOM EHICERTS
LREIND S LREIND S LREIND S LREIND S
ArDBA, B8 L EEORBOBN ArDBA, L B8 L EGORROE A
. DRI LB N TRESNOREL (3 pw ThEAADORS: DEBI=E P TARAORSE |3 ThUAORE
RETRRD R [100kN/mo%#82 5K i8 TRETRR DR |100kN/mo% 82 5K 18
ADAEE| tEE |hOXES| tE% |hokEs| tE%E |hokEs| 1HE ADKEES| tEE |hOXES| tE% |hokEs| 1E%E [Hokzs| 1HRE
N3LBA| OBS |D3ERK| OB |0O35RK| OB |03LBX| 0B DILBA| DEE [D3LRK| OBEX |035RK| OB |03LBEA| OFS
nHED nHED nHED nHED nEHED nEHED nNEHED NEHED
(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 - - - - - - - - 37 ~ 38 - - 66.35 1.00 - - 10.98 1.94
2 ~ 3 - - - - - - - - 38 ~ 39 - - 57.97 1.00 - - 14.26 2.53
3 ~ 4 - - - - - - - - 40 ~ 41 - - 63.12 1.00 - - 10.81 1.91
5 ~ 6 - - 90.83 1.00 - - 13.86 2.45 ~
6 ~ 7 - - 98.10 1.00 - - 13.86 2.45 ~
7 ~ 8 - - 98.10 1.00 - - 12.48 2.21 ~
9 ~ 10 | 11420 | 100 | 100.00 | 1.00 - - 13.47 2.38 ~
10 ~ 11 11223 | 1.00 | 100.00 | 1.00 - - 12.88 2.28 ~
11 ~ 12 | 11027 | 100 | 10000 | 1.00 - - 12.50 2.21 ~
13 ~ 14 | 163.01 1.00 | 100.00 | 1.00 21.34 3.78 16.95 3.00 ~
14 ~ 15 | 163.01 1.00 | 10000 | 1.00 21.34 3.78 16.95 3.00 ~
15 ~ 16 161.33 | 1.00 | 100.00 | 1.00 - - 16.95 3.00 ~
17 ~ 18 - - 100.00 | 1.00 - - 14.10 2.50 ~
19 ~ 20 - - 79.50 1.00 - - 11.07 1.96 ~
21 ~ 22 - - 79.50 1.00 - - 10.90 1.93 ~
23 ~ 24 - - - - - - - - ~
25 ~ 26 - - 100.00 | 1.00 - - 13.88 2.46 ~
26 ~ 27 12428 | 100 | 10000 | 1.00 - - 13.88 2.46 ~
27 ~ 28 | 11920 | 100 | 10000 | 1.00 - - 12.27 2.17 ~
29 ~ 30 | 12486 | 100 | 10000 | 1.00 - - 12.07 2.14 ~
30 ~ 31 12486 | 100 | 10000 | 1.00 - - 12.01 2.13 ~
31 ~ 32 | 13026 | 100 | 10000 | 1.00 - - 12.16 2.15 ~
32 ~ 33 | 139.11 1.00 | 10000 | 1.00 - - 12.72 2.25 ~
33 ~ 34 | 15230 | 1.00 | 10000 | 1.00 - - 16.95 3.00 ~
35 ~ 36 - - 66.36 1.00 - - 11.61 2.06 ~
36 ~ 37 - - 66.36 1.00 - - 9.27 1.64 ~
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